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Il Semester B.Com. Examination, September/October 2022
(CBCS) (2020-21 and Onwards) (Repeaters)
COMMERCE
Paper — 2.6 : Quantitative Analysis for Business Decisions — |
Time : 3 Hours Max. Marks : 70
Instruction : Answers should be completely written either in English
or Kannada.
SECTION-A
QTIN - D

Answer any five sub-questions. Each sub-question carries two marks.
CRF)TTETR 2T WT-TINT WBOR. T BIT ST oBNLL.

1. a) State any two functions of statistics.
ﬁoswaaazéd O3RR)TITTR TR faodarﬁ%fa’a( EDR.
b) Distinguish between classification and tabulation.
BNF EFTCaBR, WY TEIFBOLIBR, VOIS WIRANT) 9.
c¢) Distinguish between mean and median.
NEss ROIRO 08 TGINY FBYANTERD ?
d) If Z=20 and M = 30 then find X.
Z =20 @53 M = 30 958 XuS a2
e) What is dispersion ?
DBOT 0BT ?
fy Ifb,,=0.6and b, =0.2find r.
b,, = 0.6 SR b, = 0.2 5T ') FoROLRCD.
g) State the components of time series.
TV 3 erdod LOnnYR) SR

(5x2=10)

P.T.O.



UG - 255 2- A

SECTION-B
PN - W

Answer any three questions. Each question carries 5 marks. (3x5=15)
CIRFTRTTR TRt TINOT w0g0R. B TIN5 woanwh.

2. Calculate mode from the following data :

Cl 0-10 | 10—-20 | 20-30 | 30-40 | 40-50

f 5 20 65 30 10

PN 208 L03NPOTI B ROIRO0IIR) BOTIEOND.

Inenw | 0-10 | 10-20 | 20-30 | 30—-40 | 40 -50

wma | 5 20 65 30 10
[}

3. The following'data relate to monthly expenditure of two families A and B.

ltems Food | Clothing | Rent Fuel Others
FamilyA| 80 40 30 10 40
Family B 50 15 20 5 10

Represent the data by a suitable percentage diagram.

83 3UNS BR&3eI0 A 3583 B 200 SORED 30630008 $oY 8T Roro BT,

e =0

SN BT Wed, Wk BT *3T
A 280003 D 80 40 30 10 40
B 36003 e 50 15 20 5 10

ﬁae@ﬁzﬁﬁg{ RRTT Fe3Emmodd a’i%ygﬁa@ﬁ 32001,
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4. Calculate standard deviation from the following.
Central size 10 20 30 40 50 60
Frequency 8 12 24 50 32 16

TRRD éoaie)ﬁojo@( BORILAOWD.

0T, WOTDRT 123, 10 20 30 40 50 60
ST IR0 8 12 24 50 32 16

5. From the following results obtain the two regression equations.

Advertisement Sales
Mean 40 120
Variances 16 36

Co-efficienct of correlation = 0.75.
B3 FYND ORTNL0T OO I AT28,03089 REWEFTED BOTBOZEBCAD.

LTI v ptert X!
Fylepyte) 40 120
N3O 16 36

T8903NY FBR020E = 0.75.

6. Present the following information in the table. In the year 2020 there were 200
banks out of which 50 were private bank. In:this fifty banks 10 had ATM facility
and none of the nationalised bank had this facility.

In the year 2021, there were an increase of 50 more banks in the private sector
and total number of banks is 275, 20 nationalised bank had ATM facility and
75 private sector has this facility.

SN QOB BeFFTITE EvedR.

202033¢ a@rd@ 200 an) o%fﬁ@da > NS w% 50 5393N 1R, CF NEDNGS. T3 203339 e,0%°
nv9 10 an) o?ﬁ%ﬁo ATM @mm@n’% ﬁrao@d R0 m@de ooy, fcRany osﬁf%ﬁ@ ) B3
eﬁom@ f&d@@ 5038 2021 3¢ R d@ ARNE riaﬁa 50 S Ncs) ?Nm an) oa‘?ﬁ%f Ross
275 =033, 20 Ty, TS W05 Y ATM 293580038 5333 75 cmm W05 NG, =
EITOBRONT.
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SECTION-C
QYN - X

Answer any three questions. Each question carries 12 marks. (3%x12=36)
BRI TR FINIR YUZ0R. B T3ne 12 wosnd.

7. From the following calculate coefficient of skewness based on mean, mode
and standard deviation.

Size 0-5 | 5-10 {10-15|15-20|20-25 25-30

Frequency 2 6 8 20 . O 4

Z09R0, WBIRIB WIBY @ms DB STHOB DRBISOD ﬁamoéﬁﬁg{ 3 3P0
T3 03NON 30BOEBCA.

=0

mwe 0-5 | 5-10 |10-15|15-20|20—-25 25— 30

i) 2 6 8 20 5 4

e

8. Calculate trend values by the method of least square from the data given
below :

Year 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 2021
Sales (Z lakhs)| 76 80 130 | 144 | 138 | 120 | 174 | 190

Estimate the sales for 2022.

%Qaﬁé aNE @@éd@muom 0% @’E‘%:ijgt FROOXD T03) 2022 0T mmm@
BOBO0ROAD.

SR 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 2021
=eoew (R @é“\ﬁeé@M) 76 80 130 | 144 | 138 | 120 | 174 | 190
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9. Following are the marks obtained by two students Ramesh and Suresh in ten
test of 100 marks each.

Test 1 2 3 4 5 6 7 8 9 | 10

Ramesh’s Marks | 40 | 80 | 75 | 45 | 55 | 70 | 69 | 56 | 62 | 57

Suresh’s Marks 49 | 70 | 55 | 65 | 69 | 71 | 58 | 62 | 75 | 60

Find who is better scorer and if consistency is the criterion for awarding prize
who should get the prize ?

B2 ﬁaegﬁ%@mﬁ@e‘% 100 =o3nent Qz%do DTR,RFNL T0e3 208 BoTe3 TR eocsnied
BPTOTZ085. '

a:"@ei 1 2 3 4 5 6 7 8 9 | 10

TR wosnsd | 40 | 80 | 75 | 45 | 55 | 70 | 69 | 56 | 62 | 57

RoesT wesnso | 49 | 70 | 55 | 65 | 69 | 71 | 58 | 62 | 75 | 60

o3R3 emﬁ:ﬁo Q0T IPFOA ? TONR WBIRNS V3THN ~5§ eSERPeeHTT, oo
&)c}o}'ﬁaﬁ wﬁ)@if 9

10. Find out Spearman’s rank correlation.

X | 45|55 |60|55|58|45/|55]|65]| 70| 50

Y |56 | 50 60|56 (50|50 (65|70 80|60

20300 ﬁodqd T9,05° ﬁaﬁﬁowodﬁﬁgﬁom%ﬁoﬁa&

X | 45|55 |60 |55 |58 )|45'| 55|65 |70 | 50

Y |56 |50 | 60| 56 | 50|50 |65| 70| 80| 60
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11. Find median from the following series. Also draw less than ogives, more than
ogives and locate median on a graph.

Income (3) 0-20 | 20-40 | 40-60 | 60—80 | 80— 100
90 50

No. of persons 80 110 150

33 3ENS TRWENTT BOPAT FTIFOIT, FoBOLROWO TR 1ot Teamnsgodde,
"I TRT wiR”, “RRTTIR T L8R 08) SOGAE ROVB0CDRI TR

Zlapleso} (4] '0-20 | 20-40 | 40-60 | 60—-80 | 80— 100
90 50

SNV "o 80 110 150

SECTION -D

IR - &

Answer the following compulsory question. (1x9=9)

FINS TIN s VIR,
S [ fr:

12. A) ABC Ltd. Co. wants to distribute bonus to its employees as follows :

Monthl 200 | 220 | 240 | 260 | 280 | 300 | 320
y to to to to fo to and

Salary Q)| 200 | 240 | 260 | 280 | 300 | 320 | More

Bonus +150 | 160 | 170 | 1 80 | 190 | 200 | 210

7

The actual salaries of the employees are as follows :

¥300 280 295 318 287 260 350 298
290 268 270 278 275 240 220 248

265 255 245 225 210 262 230 250

285
a) What was the total amount of bonus ?

b) What was the average bonus ?
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ABC Q03208 50T010 B TPF00NM 83 39NT08 Weesh’ 3REL aeiRd3s.

200 220 240 260 280 300 320
ST
o0 (2) 0oz | 00T | ©ox | ©oB | 0o | dow | W
~ 220 | 240 | 260 | 280 | 300 | 320 | ),
WBeesst (X)) | 150 160 170 180 190 200 210
ToFOT Fows B IINTE 2T,
¥ 300 280 295 318 287 260 350 298
290 268 270 278 275 240 220 248
265 255 245 225 210 262 230 250
285
a) 20 BRI T 7
b) RoeRD WS 27D ?
OR/e@m
Find out Karl Pearson’s coefficient of correlation
Father's Age | 40 42 35 38 39 30 52
Son’s Age 15 21 08 07 10 04 22
T LONT R TRT ABNIEIT n’&xﬁowozﬁaﬁ@i BOTOLED.
@55 sﬁo:b:.l ’ 40 42 35 | 38 39 30 52
o wo:b:qj 15 21 08 07 10 04 22




